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1. Show that, if a particle is moving in a straight line with constant acceleration k and initial speed u,

e 2o - the distance travelled in time ¢ is given by s = ur 4 k. Two points @ and b are a distance / apart.
' % Q H A particle starts from a and moves towards b in a straight line with initial velocty v and constant
q l L acceleration k. A second particle starts at the same time from b and moves towards « with initial velocity 2u.

and constant deceleration £ Find the time in terms of u, lnvimhthepnmdacolhde and the condition
satisfied by & k& [ if this occurs before the second particle returms to b.
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